EHFARK—E

No. 15l Hix# EENA R 15 R
1 B Bk ENHFEKITT #E £EBQ 1000 ~ 1200 HE=E — %
2 == KNIER &8 NEH |13:.00 ~ 1500 EE —fi%
3 B Bk mA= & JKEEB |13.00 ~ 1600 HE=E — %
4 | NL—HR—)L |ZPRFII=9IR & KEEB |2000 ~ 2200 HE=E — %
5 [VZhSL—KR—)L|V—Hunter B LR |17.00 ~ 1900 HE=E — %
6 | /N\FIUbY [ZBPEFAFIUNOTT | B KEH 1300 ~ 1500 BEE — %
7 K # YA LBEERIKIEDST B8 KER [10.00 ~ 1200 HEE —h&
8 r F EFERTR B8 &R 1700 ~ 1900 HE |[/IP4E
9 M = BbehADE %1 THEH |13.00 ~ 1600 HE=E | —#HK
10 M = AR ADE]! %3 KEBH | 900 ~ 1200 HEE |=#HE
11 i E RIZEGHEHST %3 KEBH | 900 ~ 1300|HERETFR| —HK
12 I—# | 3—HITNL—T B8 AREER 1000 ~ 1200 %£&£= | —fi
13 3—4 IAY—VI TOF #A /KER [13:.00 ~ 1500 HE=E | —#K
14 1z PEXEREIRIST | $2-4 KIEH|1000 ~ 1200 H£RE | —f
15 x & )oLv alkig %2-3-4KBER|13:00 ~ 15:.00| FHE | —#i%
16| Z342R |75 0455= #A £ER [13:.00 ~ 1600 =HK=E | —HK
17 ;T__;i"ﬁf AR—YWERSST | H2-4 KB 1300 ~ 1500| £2=E | —#@
18| H3A4y  |[ERBWEIST %l'éﬁglfi'% 13.00 ~ 16:00| F1=E —h
19| H3A7 |24 %1-2 KEER|[13.00 ~ 1500 FE |SkHE
20| HSAH  |EPRBEREHSATE|FE1-2-3AXEH| 900 ~ 1200 HME |=SHE
21 KEE (|BSOE $2-4 KR |[10.00 ~ 1200| FE=E | —f&
22| AHIUF |FHI)—FE $2-4 NBER 1400 ~ 1600 &E&E | —f&
23| RlEAR |HBERR %1-2 &R |[1000 ~ 1200 ME |SkHE
24 ot gLA49576 7YX | 5HE1-3 ABEH|10:00 ~ 12:00| FEE | —f%
25 IEFHK |HHTUVOR ¥4 KEBR |1400 ~ 16:00| FEE | —#




Rl ik EBE B 5 FES

F P =S RFBEERESR #E +THER | 900 ~ 1100 FHE | —B
B |EROST ¥$2-4 BEER| 900 ~ 1200 M= — &
ABZE  |TRE B8 £8EH [1000 ~ 1200 %£&£= | —f&
a—35R | HSED/NVE—a—)L | F2-4 KEEH|10.00 ~ 1200 ELE | —fi&
O—5R  |[REFEAEZTOR B8 HIEH [1600 ~ 1900 %£&£= | —fi&
BDOIF |BROIEFBEY—IIL %3 KB |13.00 ~ 1500 FE=E | —#K
B £ |RPHEERESST | 88 KER 1300 ~ 1700 FHKE |SHE
X = e %3 LR |13.00 ~ 1500 F¥E=E | —#K
RAYIF7HUA|S. D.C. y—ILR %2-4 HIER|[1900 ~ 21.00| ZEFE=E | —f%

Heq. Tttt |TTH TS -<BA %£1-3 £ER|13.00 ~ 1600| HF=E — g

I




